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Processo	
  Seletivo	
  	
  001/2011	
  	
  	
  	
  	
  	
  	
  	
  Local:	
  Escola	
  Municipal	
  Profª	
  Sylvia	
  Araújo	
  	
  	
  	
  	
  	
  Sala:	
  	
  
	
  

	
  
Motorista	
  

	
  
Questão	
  	
  	
  1-­‐	
  	
  	
  Interpretação:	
  	
  	
  

Leia	
  atentamente	
  o	
  texto	
  seguinte	
  antes	
  de	
  responder	
  as	
  questões...	
  1	
  e	
  2.	
  	
  	
  

"-­‐	
  Muito	
  bom	
  dia,	
  senhora,	
  	
  	
  
Que	
  nessa	
  janela	
  está;	
  	
  	
  
sabe	
  dizer	
  se	
  é	
  possível	
  	
  	
  
algum	
  trabalho	
  encontrar?"	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  	
  	
  	
  	
  	
  (João	
  Cabral	
  de	
  Melo	
  Neto)	
  

No	
  primeiro	
  verso,	
  o	
  termo	
  bom	
  é:	
  	
  

A. um	
  advérbio	
  
B. um	
  substantivo	
  	
  
C. um	
  adjetivo	
  	
  	
  	
  	
  	
  
D. um	
  numeral	
  	
  

Questão	
  	
  	
  2-­‐	
  	
  	
  No	
  segundo	
  verso,	
  “Que	
  nessa	
  janela	
  está”,	
  o	
  verbo	
  é:	
  	
  	
  

A. 	
  transitivo	
  direto	
  	
  
B. de	
  ligação	
  	
  
C. transitivo	
  indireto	
  	
  
D. intransitivo	
  	
  

	
  
Questão	
  	
  	
  3-­‐	
  	
  Assinale	
  a	
  alternativa	
  cuja	
  frase	
  está	
  corretamente	
  pontuada:	
  
	
  

A. o	
  sol	
  que	
  é	
  uma	
  estrela,	
  é	
  o	
  centro	
  do	
  nosso	
  sistema	
  planetário.	
  
B. você	
  pretende	
  cursar	
  Medicina;	
  ela,	
  Odontologia.	
  	
  	
  	
  	
  	
  	
  	
  
C. ele,	
  modestamente	
  se	
  retirou.	
  
D. confessou-­‐lhe	
  tudo;	
  ciúme,	
  ódio,	
  inveja.	
  

	
  
Questão	
  	
  	
  4-­‐	
  	
  Assinale	
  a	
  alternativa	
  em	
  que	
  o	
  sujeito	
  é	
  inexistente:	
  
	
  

A. precisa-­‐se	
  de	
  empregados.	
  
B. chamaram-­‐no	
  às	
  pressas.	
  
C. precisamos	
  permanecer	
  atentos.	
  
D. vai	
  fazer	
  dois	
  anos	
  que	
  ele	
  partiu.	
  

	
  
Questão	
  	
  	
  5-­‐	
  	
  	
  Assinale	
  a	
  alternativa	
  em	
  que	
  ocorre	
  sujeito	
  composto:	
  
	
  

A. Deus,	
  Deus	
  que	
  farei?	
  
B. os	
  livros	
  contemplei,	
  os	
  quadros	
  e	
  as	
  outras	
  obras.	
  
C. foram	
  João	
  e	
  Maria.	
  	
  	
  	
  
D. ontem	
  foi	
  João	
  e	
  José,	
  hoje.	
  
	
  

Questão	
  	
  6-­‐	
  	
  "Sorvete	
  Kibon	
  decora	
  sua	
  cozinha.	
  E	
  dá	
  nome	
  às	
  latas."	
  Os	
  termos	
  destacados	
  são,	
  respectivamente:	
  
	
  

A. 	
  sujeito,objeto	
  direto	
  e	
  objeto	
  	
  indireto	
  
B. objeto	
  direto,	
  sujeito,	
  objeto	
  indireto	
  
C. sujeito,	
  objeto	
  indireto,	
  objeto	
  direto	
  
D. sujeito,	
  sujeito,	
  objeto	
  indireto	
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Questão	
  	
   	
  7-­‐	
   	
   	
  Observe	
  as	
  palavras	
  grifadas	
  da	
  seguinte	
  frase:	
  "Encaminhamos	
  a	
  V.	
  Senhoria	
  cópia	
  autêntica	
  do	
  Edital	
  nº	
  19/82."	
  Elas	
  são,	
  
respectivamente:	
  
	
  

A-­‐ verbo,	
  substantivo,	
  substantivo	
  	
  	
  	
  	
  	
  
B-­‐ verbo,	
  substantivo,	
  adjetivo.	
  
C-­‐ pronome,	
  adjetivo,	
  substantivo	
  
D-­‐ pronome,	
  adjetivo,	
  adjetivo	
  

	
  
Questão	
  	
  	
  8-­‐	
  	
  	
  	
  Assinale	
  a	
  frase	
  em	
  que	
  "meio"	
  funciona	
  como	
  advérbio:	
  
	
  

A-­‐ 	
  	
  achei-­‐o	
  meio	
  triste.	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 	
  	
  só	
  quero	
  meio	
  quilo.	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 	
  	
  descobri	
  o	
  meio	
  de	
  acertar.	
  
D-­‐ 	
  	
  parou	
  no	
  meio	
  da	
  rua.	
  
	
  

Questão	
   	
   	
   9-­‐	
   	
   	
   	
   "Nada	
  há	
  mais	
   velho	
  que	
   a	
  moda,	
   nada	
  mais	
   fácil	
   que	
   a	
   originalidade	
  das	
  desobediências".	
   (João	
  Ribeiro:	
   	
   	
   	
   	
  Páginas	
  de	
  
Estética)	
  A	
  palavra	
  sublinhada	
  apresenta	
  conotação:	
  

	
  
A-­‐ 	
  	
  de	
  absoluto	
  aplauso	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 	
  	
  de	
  censura	
  impiedosa	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 	
  	
  de	
  constrangido	
  aplauso	
  
D-­‐ 	
  	
  irônica.	
  

	
  
Questão	
  	
  	
  10-­‐	
  	
  	
  	
  De	
  acordo	
  com	
  o	
  ditado	
  popular	
  "invejoso	
  nunca	
  medrou,	
  nem	
  quem	
  perto	
  dele	
  morou":	
  

	
  
A-­‐ 	
  	
  o	
  invejoso	
  nunca	
  teve	
  medo,	
  nem	
  amedronta	
  seus	
  vizinhos.	
  
B-­‐ 	
  	
  enquanto	
  o	
  invejoso	
  prospera,	
  seus	
  vizinhos	
  empobrecem.	
  
C-­‐ 	
  	
  o	
  invejoso	
  não	
  cresce	
  e	
  não	
  permite	
  o	
  crescimento	
  dos	
  vizinhos.	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
D-­‐ 	
  	
  o	
  temor	
  atinge	
  o	
  invejoso	
  e	
  também	
  seus	
  vizinhos.	
  

	
  
Questão	
  	
  	
  11-­‐	
  	
  	
  “	
  Não	
  sabemos	
  qual	
  será	
  nossa	
  reação	
  quando	
  ..........	
  a	
  chegada	
  do	
  adversário."	
  

	
  
A-­‐ vemos	
  
B-­‐ 	
  vimos	
  	
  	
  	
  	
  	
  	
  
C-­‐ veremos	
  
D-­‐ virmos	
  

	
  
Questão	
  	
  	
  12-­‐	
  	
  	
  	
  "Ontem	
  à	
  noite	
  /	
  Eu	
  procurei	
  /	
  Ver	
  se	
  aprendia	
  /	
  Como	
  é	
  que	
  se	
  fazia	
  /	
  Uma	
  balada	
  /	
  Antes	
  d’ir	
  /	
  Pro	
  meu	
  hotel"	
  (Oswald	
  de	
  
Andrade:	
  "Balada	
  da	
  Esplanada")	
  Há	
  uma	
  locução	
  verbal	
  nesse	
  texto.	
  Essa	
  locução	
  é:	
  
	
  
A-­‐ "procurei	
  Ver"	
  	
  	
  	
  	
  	
  
B-­‐ "ver	
  se	
  aprendia"	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ "aprendia	
  como	
  é"	
  
D-­‐ "é	
  que	
  se	
  fazia"	
  

-­‐	
  
Questão	
  	
  	
  13-­‐	
  	
  	
  	
  “Não	
  faças	
  a	
  outrem	
  o	
  que	
  não	
  queres	
  que	
  te	
  façam”.	
  O	
  sujeito	
  de	
  faças	
  é:	
  

A-­‐ 	
  indeterminado	
  
B-­‐ 	
  agente	
  
C-­‐ 	
  inexistente	
  
D-­‐ 	
  paciente	
  

	
  
Questão	
  	
  	
  14-­‐	
  	
  	
  Qual	
  a	
  classe	
  gramatical	
  do	
  a	
  respectivamente	
  em	
  	
  	
  “Esta	
  gravata	
  é	
  a	
  que	
  recebi”	
  /	
  “Estou	
  disposto	
  a	
  tudo”	
  /	
  “Fiquei	
  contente	
  

com	
  a	
  nota”	
  /	
  “Comprei-­‐a	
  logo	
  que	
  a	
  vi”	
  /	
  “...	
  a	
  sua	
  oração”.	
  
A-­‐ pronome,	
  preposição,	
  artigo,	
  pronome,	
  artigo.	
  
B-­‐ 	
  preposição,	
  pronome,	
  artigo,	
  pronome,	
  preposição.	
  
C-­‐ 	
  artigo,	
  pronome,	
  pronome,	
  artigo,	
  preposição.	
  
D-­‐ 	
  artigo,	
  pronome,	
  preposição,	
  pronome,	
  artigo.	
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Questão	
  	
  	
  15-­‐	
  	
  	
  	
  A	
  alternativa	
  em	
  que	
  todas	
  as	
  palavras	
  apresentam	
  separação	
  correta	
  de	
  sílabas	
  é:	
  
	
  
A-­‐ 	
  ex-­‐ce-­‐ção	
  /	
  cre-­‐sci-­‐men-­‐to	
  /	
  pro-­‐fes-­‐sor	
  
B-­‐ 	
  ins-­‐tru-­‐ção	
  /	
  ex-­‐ci-­‐tar	
  /	
  eu-­‐ro-­‐pe-­‐u	
  
C-­‐ 	
  pers-­‐pe-­‐cti-­‐va	
  /	
  am-­‐bí-­‐guo	
  /	
  trans-­‐por-­‐te	
  
D-­‐ 	
  rit-­‐mo	
  /	
  dig-­‐no	
  /	
  ap-­‐to	
  	
  	
  	
  

	
  
Questão	
  	
  	
  16-­‐	
  	
  	
  	
  Em	
  qual	
  frase	
  não	
  há	
  um	
  substantivo	
  empregado	
  no	
  diminutivo?	
  

	
  
A-­‐ coleciono	
  corpúsculos	
  significativos	
  por	
  princípios	
  óbvios	
  da	
  minha	
  natureza	
  
B-­‐ faça	
  questiúnculas	
  comente	
  se	
  forem	
  suficientes	
  para	
  a	
  formação	
  de	
  idéias	
  essenciais	
  
C-­‐ os	
  silvícolas	
  optaram	
  pelo	
  uso	
  da	
  linguagem	
  fundamental	
  em	
  gestos	
  e	
  expressões.	
  	
  
D-­‐ o	
  chuvisco	
  contínuo	
  de	
  gracejos	
  sentimentais	
  perturba-­‐me	
  a	
  mente	
  cansada	
  

	
  
Questão	
  	
  	
  17-­‐	
  	
  Onde	
  não	
  há	
  substantivo	
  sobrecomum?	
  

	
  
A-­‐ aquela	
  jovem	
  ainda	
  conserva	
  a	
  ingenuidade	
  meiga	
  e	
  dócil	
  da	
  criança	
  
B-­‐ a	
  intérprete	
  morreu	
  mantendo-­‐se	
  como	
  um	
  ídolo	
  indestrutível	
  na	
  memória	
  de	
  seus	
  admiradores	
  
C-­‐ as	
  famílias	
  desestruturam-­‐se	
  quando	
  os	
  cônjuges	
  agem	
  sem	
  consciência.	
  
D-­‐ o	
  pianista	
  executou	
  com	
  melancolia	
  e	
  suavidade	
  a	
  sinfonia	
  preferida	
  pela	
  platéia.	
  	
  

	
  
Questão	
  	
  	
  18-­‐	
  	
  	
  Identifique	
  o	
  substantivo	
  usado	
  apenas	
  no	
  plural:	
  	
  

	
  
A-­‐ lápis	
  	
  
B-­‐ pires	
  
C-­‐ idos	
  	
  	
  	
  	
  	
  
D-­‐ ônibus	
  

	
  
Questão	
  	
  	
  19-­‐	
  	
  	
  Qual	
  o	
  plural	
  incorreto?	
  

	
  
A-­‐ 	
  cônsul	
  –	
  cônsules	
  
B-­‐ 	
  corrimão	
  –	
  corrimões	
  
C-­‐ 	
  pagão	
  –	
  pagões	
  	
  	
  	
  	
  	
  	
  	
  
D-­‐ 	
  cidadão	
  –	
  cidadãos	
  

	
  
Questão	
  	
  	
  20-­‐	
  	
  	
  	
  Assinale	
  a	
  alternativa	
  onde	
  o	
  pronome	
  pessoal	
  está	
  empregado	
  corretamente:	
  

	
  
A-­‐ este	
  é	
  um	
  problema	
  para	
  mim	
  resolver.	
  
B-­‐ entre	
  eu	
  e	
  tu	
  não	
  há	
  mais	
  nada.	
  
C-­‐ a	
  questão	
  deve	
  ser	
  resolvida	
  por	
  eu	
  e	
  você.	
  
D-­‐ para	
  mim,	
  viajar	
  de	
  avião	
  é	
  um	
  suplício.	
  	
  	
  	
  	
  

	
  
	
  Questão	
  	
  	
  21-­‐	
  	
  	
  	
  Os	
  5	
  primeiros	
  múltiplos	
  de	
  6	
  são:	
  

	
  
A-­‐ 0,2,6,12,24	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 0,6,12,18,24,30	
  	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 1,6,12,22,32	
  
D-­‐ 1,3,6,18,24	
  

	
  
Questão	
  	
  	
  22-­‐	
  	
  	
  Existem	
  três	
  números	
  inteiros	
  consecutivos	
  cuja	
  soma	
  é	
  63.	
  Esses	
  números	
  são,	
  respectivamente:	
  

	
  
A-­‐ 20,	
  21	
  e	
  22	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 20,	
  22	
  e	
  24	
  	
  
C-­‐ 15,	
  16	
  e	
  17	
  
D-­‐ 18,	
  19	
  e	
  20	
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Questão	
  	
  	
  23-­‐	
  	
  	
  	
  Se	
  um	
  sexto	
  de	
  uma	
  pizza	
  custa	
  3	
  reais,	
  uma	
  pizza	
  inteira	
  vai	
  custar:	
  
A-­‐ 10	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 12	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 18	
  
D-­‐ 20	
  

Questão	
  	
  	
  24-­‐	
  	
  	
  O	
  resultado	
  da	
  adição	
   	
  é:	
  
A-­‐ 	
  5/4	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 	
  5/12	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 	
  14/12	
  
D-­‐ 	
  14/4	
  

	
  
Questão	
  	
  	
  25-­‐	
  	
  	
  	
  Temos	
  um	
  triângulo	
  equilátero	
  de	
  lado	
  6cm.	
  Qual	
  é	
  o	
  perímetro	
  deste	
  triângulo?	
  

	
  
A-­‐ 	
  18	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 30	
  
C-­‐ 20	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
D-­‐ 24	
  

	
  	
  
Questão	
  	
  	
  26-­‐	
  	
  	
  	
  	
  Se	
  uma	
  diarista	
  recebe	
  R$	
  195,00	
  por	
  4	
  dias	
  trabalhados,	
  quanto	
  receberá	
  por	
  10	
  dias?	
  

	
  
A-­‐ 	
  250,00	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 	
  378,00	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 	
  487,50	
  
D-­‐ 	
  500,00	
  

	
  	
  	
  	
  	
  	
  	
  	
  
Questão	
  	
  	
  27-­‐	
  	
  	
  	
  Uma	
  família	
  de	
  4	
  pessoas	
  sobrevive	
  com	
  R$	
  300,00	
  durante	
  21	
  dias.	
  Se	
  a	
  família	
  tivesse	
  mais	
  3	
  pessoas,	
  quanto	
  tempo	
  de	
  
sobrevivência	
  estaria	
  garantido	
  com	
  o	
  mesmo	
  dinheiro?	
  

	
  
A-­‐ 12	
  dias	
  	
  	
  	
  	
  	
  	
  
B-­‐ 16	
  dias	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 18	
  dias	
  
D-­‐ 24	
  dias	
  

	
  
Questão	
  	
  	
  28-­‐	
  	
  	
  	
  Quanto	
  vale	
  em	
  metros	
  3,6	
  km	
  +	
  450	
  m?	
  

	
  
A-­‐ 486	
  	
  	
  	
  	
  	
  	
  
B-­‐ 500	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 756	
  
D-­‐ 4050	
  

	
  
Questão	
  	
  	
  29-­‐	
  	
  	
  	
  Uma	
  escola	
  tem	
  25	
  professores,	
  dos	
  quais	
  24%	
  ensinam	
  Matemática.	
  Quantos	
  professores	
  ensinam	
  Matemática	
  nessa	
  
escola?	
  

	
  
A-­‐ 2	
  	
  	
  	
  	
  	
  	
  
B-­‐ 4	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 6	
  
D-­‐ 8	
  

	
  
Questão	
  	
  	
  30-­‐	
  	
  	
  	
  Na	
  compra	
  de	
  um	
  aparelho	
  obtive	
  desconto	
  de	
  15%	
  por	
  ter	
  feito	
  o	
  pagamento	
  à	
  vista.	
  Se	
  o	
  preço	
  original	
  era	
  de	
  R$	
  120,00	
  ,	
  
de	
  quanto	
  foi	
  o	
  desconto?	
  

	
  
A-­‐ 4	
  reais	
  	
  	
  	
  	
  	
  	
  
B-­‐ 12	
  reais	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 16	
  reais	
  
D-­‐ 18	
  reais	
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Questão	
  	
  	
  31-­‐	
  	
  	
  	
  -­‐	
  Uma	
  pessoa	
  precisa	
  revestir	
  as	
  paredes	
  de	
  um	
  quarto	
  com	
  papel.	
  Sabendo	
  que	
  o	
  quarto	
  é	
  retangular,	
  com	
  4	
  metros	
  de	
  
comprimento	
  e	
  3	
  metros	
  de	
  largura,	
  e	
  que	
  a	
  distância	
  do	
  chão	
  ao	
  teto	
  é	
  2,5	
  metros,	
  calcule	
  quantos	
  metros	
  quadrados	
  de	
  papel	
  de	
  parede	
  
serão	
  necessários	
  para	
  revestir	
  todas	
  as	
  paredes	
  do	
  quarto:	
  

	
  
A-­‐ 	
  	
  25	
  m2	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 	
  	
  39	
  m2	
  	
  	
  
C-­‐ 	
  	
  28	
  m2	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
D-­‐ 	
  	
  35	
  m2	
  	
  	
  

	
  
Questão	
  	
  	
  32-­‐	
  	
  	
  	
  	
  Dado	
  que	
  A={2,4,6}	
  e	
  B={2,3,5}.	
  Obter	
  a	
  AUB,	
  ou	
  seja,	
  a	
  união	
  de	
  A	
  com	
  B:	
  

	
  
A-­‐ {2,4,6}	
  	
  	
  	
  	
  	
  	
  
B-­‐ {2,3,5}	
  	
  	
  	
  	
  
C-­‐ {2}	
  
D-­‐ {2,4,5,3,6}	
  	
  

-­‐	
  
Questão	
  	
  	
  33-­‐	
  	
  	
  As	
  dimensões	
  de	
  um	
  retângulo	
  que	
  tem	
  16	
  cm	
  de	
  perímetro	
  e	
  15	
  cm2	
  	
  de	
  área	
  são	
  respectivamente:	
  

	
  
A-­‐ 2	
  e	
  4	
  	
  	
  	
  	
  	
  	
  
B-­‐ 3	
  e	
  5	
  	
  
C-­‐ 2	
  e	
  3	
  
D-­‐ 3	
  e	
  4	
  

	
  
Questão	
  	
  	
  34-­‐	
  	
  	
  	
  	
  Resolva	
  o	
  seguinte	
  problema:	
  Se	
  do	
  quadrado	
  de	
  um	
  número	
  subtrairmos	
  6,	
  o	
  resto	
  será	
  30.	
  Qual	
  é	
  esse	
  número?	
  

	
  
A-­‐ 6	
  	
  	
  	
  	
  	
  
B-­‐ 8	
  	
  	
  	
  	
  	
  	
  	
  
C-­‐ 9	
  
D-­‐ 13	
  

	
  	
  	
  	
  	
  	
  	
  
Questão	
  	
  	
  35-­‐	
  	
  	
  	
  	
  se	
  uma	
  pessoa	
  resolve	
  aplicar	
  R$	
  200,00	
  na	
  caderneta	
  de	
  poupança	
  à	
  taxa	
  de	
  juro	
  simples	
  de	
  5%	
  ao	
  mês,	
  quanto	
  ela	
  terá	
  
após	
  5	
  meses?	
  

	
  
A-­‐ 	
  205	
  reais	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 	
  250	
  reais	
  
C-­‐ 	
  385	
  reais	
  
D-­‐ 	
  235	
  	
  reais	
  

	
  
Questão	
  	
  	
  36-­‐	
  	
  	
  	
  	
  (	
  Udesc)	
  De	
  150	
  candidatos	
  que	
  participaram	
  de	
  um	
  concurso,	
  60	
  foram	
  aprovados,	
  Isso	
  significa	
  que:	
  

	
  
A-­‐ 	
  	
  20%	
  reprovaram	
  	
  	
  
B-­‐ 	
  	
  50%	
  reprovaram	
  
C-­‐ 	
  	
  30%	
  reprovaram	
  	
  	
  	
  
D-­‐ 	
  	
  60%	
  reprovaram	
  

	
  
Questão	
  	
  	
  37-­‐	
  	
  	
  	
  	
  Ao	
  observarmos	
  a	
  seqüência	
  numérica	
  1212,1224,	
  1236,	
  1248,	
  ...,	
  podemos	
  dizer	
  que	
  os	
  próximos	
  termos	
  são:	
  

	
  
A-­‐ 1258,1260,	
  1272	
  	
  	
  	
  	
  	
  
B-­‐ 1170,1282,1294	
  
C-­‐ 1270,1282,1294	
  	
  	
  	
  	
  	
  	
  	
  	
  
D-­‐ 1270,1280,1292	
  

	
  
Questão	
  	
  	
  38-­‐	
  	
  	
  	
  	
  (Saresp)	
  	
  A	
  tabela	
  abaixo	
  representa	
  o	
  número	
  de	
  torcedores	
  presentes	
  a	
  um	
  jogo	
  entre	
  Corinthians	
  e	
  Palmeiras.	
  

Nº	
  de	
  torcedores	
   Corinthians	
   Palmeiras	
  
Homens	
   1200	
   1000	
  
Mulheres	
   800	
   700	
  
Crianças	
   150	
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O	
  número	
  de	
  torcedores	
  nesse	
  jogo	
  foi:	
  
A-­‐ 	
  4100	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 	
  1950	
  
C-­‐ 	
  4000	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
D-­‐ 	
  2150	
  

	
  
Questão	
  	
  	
  39-­‐	
  	
  	
  	
  	
  Para	
  a	
  instalação	
  de	
  um	
  telefone	
  uma	
  pessoa	
  utilizou	
  10	
  metros	
  e	
  50	
  centímetros	
  de	
  fio.	
  Se	
  o	
  metro	
  desse	
  fio	
  custou	
  R$	
  
0,30,	
  quanto	
  ela	
  gastou	
  nessa	
  instalação?	
  

	
  
A-­‐ 	
  3,00	
  	
  	
  	
  
B-­‐ 	
  30,00	
  
C-­‐ 	
  3,15	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
D-­‐ 	
  3,25	
  

	
  
Questão	
  	
  	
  40-­‐	
  	
  	
  	
  Descubra	
  as	
  afirmações	
  verdadeiras:	
  

	
  
I-­‐ um	
  ângulo	
  de	
  90º	
  é	
  um	
  ângulo	
  reto.	
  
II-­‐ um	
  ângulo	
  de	
  menos	
  de	
  45º	
  é	
  um	
  ângulo	
  obtuso.	
  
III-­‐ o	
  ângulo	
  de	
  meia	
  volta	
  mede	
  180º.	
  

As	
  afirmações	
  verdadeiras	
  são:	
  
A-­‐ 	
  I	
  e	
  II	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
B-­‐ 	
  	
  somente	
  III	
  
C-­‐ 	
  	
  I	
  e	
  III	
  	
  	
  	
  	
  	
  
D-­‐ 	
  	
  II	
  e	
  III	
  

-­‐	
  
Questão	
  	
  	
  41-­‐	
  	
  	
  	
  	
  Quando	
  NÂO	
  definida	
  pela	
  sinalização,	
  qual	
  é	
  a	
  velocidade	
  	
  permitida	
  nas	
  vias	
  urbanas	
  de	
  trânsito	
  rápido?	
  

	
  
A-­‐ 	
  80km/h	
  	
  	
  
B-­‐ 	
  30km/h	
  
C-­‐ 	
  60km/h	
  
D-­‐ 	
  40km/h	
  

Questão	
  	
  	
  42-­‐	
  	
  	
  Sobre	
  ultrapassagem	
  ,	
  assinale	
  a	
  alternativa	
  INCORRETA.	
  
	
  

A-­‐ deve-­‐se	
  ultrapassar	
  somente	
  pela	
  esquerda,	
  em	
  locais	
  onde	
  isso	
  seja	
  permitido	
  e	
  com	
  boa	
  visibilidade.	
  
B-­‐ é	
  permitido	
  ultrapassar	
  pela	
  direita,	
  desde	
  que	
  o	
  veículo	
  da	
  frente	
  sinalize	
  uma	
  manobra	
  para	
  a	
  esquerda.	
  
C-­‐ é	
  obrigatório	
  reduzir	
  a	
  velocidade	
  e	
  redobrar	
  a	
  atenção	
  ao	
  ultrapassar	
  veículos	
  coletivos	
  parados	
  que	
  estejam	
  desembarcando	
  

passageiros.	
  
D-­‐ uma	
  aproximação	
  	
  ostensiva	
  ,	
  “colando”	
  no	
  veículo	
  da	
  frente,	
  é	
  uma	
  prática	
  de	
  	
  ultrapassagem	
  segura.	
  	
  	
  	
  

Questão	
  	
  	
  43-­‐	
  	
  	
  	
  Para	
  uma	
  maior	
  segurança	
  no	
  trânsito	
  é	
  dever	
  de	
  todo	
  condutor	
  de	
  veículo:	
  
	
  

A-­‐ transitar	
  em	
  velocidade	
  compatível	
  com	
  a	
  segurança	
  nos	
  cruzamentos	
  sem	
  sinalização.	
  	
  	
  	
  
B-­‐ dar	
  	
  passagem,	
  pela	
  direita,	
  sempre	
  que	
  solicitado.	
  
C-­‐ manter	
  acesa	
  a	
  luz	
  dos	
  faróis	
  e	
  de	
  posição	
  nas	
  vias	
  com	
  iluminação	
  pública.	
  
D-­‐ usar	
  buzina	
  para	
  chamar	
  alguém.	
  	
  	
  

Questão	
  	
  	
  44-­‐	
  	
  	
  Em	
  centros	
  urbanos	
  dirigir	
  com	
  apenas	
  uma	
  das	
  	
  mãos	
  é	
  :	
  
	
  

A-­‐ permitido	
  em	
  qualquer	
  situação.	
  
B-­‐ proibido	
  em	
  qualquer	
  situação	
  .	
  
C-­‐ permitido	
  quando	
  o	
  motorista	
  faz	
  sinais	
  de	
  braço	
  ou	
  mudanças	
  de	
  marchas.	
  	
  	
  
D-­‐ permitido	
  para	
  condutor	
  experiente,	
  que	
  já	
  sabe	
  o	
  tem	
  que	
  fazer.	
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Questão	
  	
  	
  45-­‐	
  	
  	
  	
  	
  Leia	
  atentamente	
  as	
  respostas	
  abaixo	
  e	
  aponte	
  a	
  alternativa	
  INCORRETA.	
  O	
  pedestre	
  tem	
  preferência	
  de	
  passagem:	
  
	
  

A-­‐ somente	
  quando	
  for	
  idoso	
  .	
  	
  	
  	
  
B-­‐ se	
  o	
  sinal	
  para	
  veículos	
  estiver	
  vermelho.	
  
C-­‐ quando	
  estiver	
  na	
  faixa	
  de	
  segurança.	
  
D-­‐ se	
  o	
  sinal	
  para	
  pedestre	
  estiver	
  aberto.	
  	
  	
  

Questão	
  	
  	
  46-­‐	
  	
  	
  	
  Quais	
  são	
  os	
  cinco	
  elementos	
  básicos	
  da	
  direção	
  defensiva:	
  
	
  

A-­‐ conhecimento,atenção	
  ,previsão,	
  habilidade	
  e	
  ação.	
  	
  	
  
B-­‐ trânsito,	
  carro	
  ou	
  caminhão,	
  pedestre	
  ,	
  o	
  tempo	
  e	
  a	
  via.	
  
C-­‐ passageiro	
  ,condutor	
  ,	
  carga,	
  iluminação	
  e	
  alta	
  velocidade.	
  
D-­‐ cada	
  motorista	
  possui	
  seus	
  próprios	
  elementos.	
  

Questão	
  	
  	
  47-­‐	
  	
  	
  O	
  condutor	
  antes	
  de	
  fazer	
  uma	
  ultrapassagem	
  em	
  outro	
  veículo	
  que	
  estiver	
  em	
  movimento	
  ,	
  deverá:	
  
	
  

A-­‐ certificar-­‐se	
  de	
  que	
  dispõe	
  de	
  espaço	
  suficiente	
  e	
  de	
  que	
  a	
  visibilidade	
  lhe	
  permite	
  fazê-­‐la	
  com	
  segurança.	
  	
  	
  	
  
B-­‐ buzinar	
  para	
  o	
  outro	
  veículo	
  saia	
  da	
  frente.	
  
C-­‐ aumentar	
  bastante	
  a	
  sua	
  velocidade.	
  
D-­‐ sinalizar	
  e	
  ultrapassar	
  rapidamente,	
  pois	
  estamos	
  mais	
  rápidos.	
  

Questão	
  	
  	
  48-­‐	
  	
  	
  No	
  veículo	
  a	
  finalidade	
  do	
  filtro	
  de	
  combustível	
  é	
  :	
  
	
  

A-­‐ controlar	
  a	
  pressão	
  do	
  combustível	
  	
  
B-­‐ aumentar	
  o	
  fluxo	
  de	
  combustível.	
  
C-­‐ reter	
  as	
  impurezas	
  do	
  combustível.	
  	
  	
  	
  
D-­‐ evitar	
  o	
  excesso	
  de	
  combustível.	
  

Questão	
  	
  	
  49-­‐	
  	
  	
  A	
  verificação	
  do	
  nível	
  de	
  óleo	
  do	
  motor	
  deve	
  ser	
  feita:	
  
	
  

A-­‐ periodicamente,	
  de	
  acordo	
  com	
  as	
  recomendações	
  do	
  fabricante	
  do	
  veículo.	
  	
  
B-­‐ a	
  cada	
  cinco	
  mil	
  quilômetros,	
  ou	
  quando	
  acender	
  a	
  luz	
  do	
  óleo	
  no	
  painel.	
  
C-­‐ uma	
  vez	
  por	
  mês.	
  
D-­‐ uma	
  vez	
  por	
  ano.	
  

Questão	
  	
  	
  50-­‐	
  	
  	
  No	
  veículo	
  automotor	
  qual	
  	
  	
  é	
  a	
  função	
  da	
  bateria:	
  
	
  

A-­‐ gerar	
  movimento	
  às	
  rodas.	
  
B-­‐ gerar	
  força	
  aos	
  freios.	
  
C-­‐ armazenar	
  e	
  fornecer	
  corrente	
  elétrica.	
  	
  	
  
D-­‐ aumentar	
  a	
  potência	
  do	
  motor.	
  	
  

Questão	
  	
  	
  51-­‐	
  	
  	
  Em	
  caso	
  de	
  acidente	
  com	
  vítimas	
  é	
  nossa	
  obrigação:	
  	
  	
  
	
  

A-­‐ não	
  existe	
  obrigação	
  legal	
  em	
  socorrer.	
  
B-­‐ a	
  obrigação	
  de	
  socorrer	
  é	
  apenas	
  para	
  quem	
  causou	
  o	
  acidente.	
  
C-­‐ é	
  obrigação	
  de	
  todos	
  prestar	
  auxílio	
  desde	
  que	
  não	
  corra	
  risco	
  pessoal.	
  	
  
D-­‐ é	
  obrigação	
  de	
  todos	
  sempre	
  prestar	
  auxílio	
  à	
  vítima	
  	
  

Questão	
  	
  	
  52-­‐	
  	
  	
  O	
  condutor	
  poderá	
  frear	
  bruscamente	
  seu	
  veículo	
  apenas	
  :	
  
A-­‐ antes	
  de	
  efetuar	
  curvas.	
  
B-­‐ nos	
  cruzamentos	
  não	
  sinalizados.	
  
C-­‐ para	
  verificar	
  o	
  equipamento	
  quando	
  solicitado.	
  
D-­‐ por	
  razões	
  de	
  segurança.	
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Questão	
  	
  	
  53-­‐	
  	
  	
  	
  	
  A	
  	
  preferência	
  nos	
  cruzamentos	
  sem	
  sinalização	
  é	
  dos	
  veículos	
  que:	
  
A-­‐ vierem	
  pela	
  direita.	
  	
  	
  	
  	
  
B-­‐ vierem	
  pela	
  esquerda.	
  
C-­‐ piscarem	
  os	
  faróis	
  e	
  buzinarem	
  	
  
D-­‐ vierem	
  pela	
  rua	
  mais	
  larga.	
  

	
  
Questão	
  	
  	
  54-­‐	
  	
  	
  	
  	
  A	
  infração	
  por	
  deixar	
  de	
  prestar	
  socorro	
  à	
  vítima	
  de	
  acidente	
  podendo	
  fazê-­‐lo,	
  é	
  :	
  	
  

A-­‐ infração	
  gravíssima.	
  	
  	
  
B-­‐ infração	
  leve.	
  
C-­‐ não	
  existe	
  infração.	
  
D-­‐ infração	
  média.	
  

	
  
Questão	
  	
  	
  55-­‐	
  	
  	
  	
  	
  O	
  estado	
  de	
  conservação	
  dos	
  pneus	
  é	
  importante	
  para	
  :	
  

A-­‐ o	
  conforto	
  dos	
  seus	
  ocupantes.	
  
B-­‐ a	
  quantidade	
  adequada	
  de	
  libras.	
  
C-­‐ evitar	
  desgaste	
  do	
  veículo.	
  
D-­‐ evitar	
  o	
  fenômeno	
  aquaplanagem	
  ou	
  hidroplanagem	
  ,garantindo	
  aderência	
  adequada	
  do	
  veículo	
  ao	
  solo.	
  	
  	
  

	
  
Questão	
  	
  	
  56-­‐	
  	
  	
  Em	
  caso	
  de	
  atropelamento	
  ,devem	
  ser	
  tomadas	
  as	
  seguintes	
  providências:	
  

A-­‐ verificar	
  os	
  danos	
  do	
  veículo.	
  
B-­‐ sinalizar	
  o	
  local	
  	
  para	
  evitar	
  um	
  novo	
  acidente.	
  	
  	
  	
  	
  
C-­‐ socorrer	
  a	
  vítima	
  imediatamente.	
  
D-­‐ não	
  imobilizar	
  fraturas.	
  

	
  
Questão	
  	
  	
  57-­‐	
  	
  	
  	
  	
  De	
  acordo	
  com	
  o	
  Código	
  de	
  Trânsito	
  Brasileiro,	
  ao	
  aproximar-­‐se	
  de	
  qualquer	
  tipo	
  de	
  cruzamento,	
  o	
  condutor	
  do	
  veículo	
  deve	
  
demonstrar	
  prudência	
  especial	
  e:	
  

	
  
A-­‐ apagar	
  todas	
  	
  as	
  luzes	
  do	
  veículo.	
  
B-­‐ aumentar	
  a	
  velocidade.	
  
C-­‐ ligar	
  o	
  pisca	
  alerta.	
  
D-­‐ transitar	
  em	
  velocidade	
  moderada.	
  	
  	
  	
  

Questão	
  	
  	
  58-­‐	
  	
  	
  	
  	
  A	
  ultrapassagem	
  pela	
  direita	
  é	
  :	
  
	
  

A-­‐ permitida	
  apenas	
  quando	
  o	
  veículo	
  a	
  ser	
  ultrapassado	
  	
  estiver	
  sinalizando	
  o	
  propósito	
  de	
  entrar	
  à	
  esquerda.	
  	
  	
  	
  
B-­‐ permitida	
  nos	
  quebra-­‐molas	
  e	
  rotatórias	
  .	
  
C-­‐ permitida	
  para	
  condutores	
  de	
  motocicletas	
  e	
  triciclos.	
  
D-­‐ proibida	
  pela	
  legislação	
  em	
  vigor.	
  

Questão	
  	
  	
  59-­‐	
  	
  	
  	
  De	
  acordo	
  com	
  o	
  Código	
  Brasileiro	
  de	
  Trânsito,	
  estrada	
  é	
  :	
  	
  	
  
	
  

A-­‐ 	
  via	
  de	
  rolamento	
  rápido.	
  
B-­‐ 	
  via	
  urbana	
  pavimentada.	
  
C-­‐ 	
  via	
  rural	
  não	
  pavimentada.	
  	
  	
  	
  
D-­‐ 	
  via	
  rural	
  com	
  pavimentação	
  asfáltico	
  	
  	
  

Questão	
  	
  	
  60-­‐	
  	
  	
  	
  Quando	
  se	
  observa	
  água	
  misturada	
  com	
  	
  o	
  óleo	
  lubrificante	
  de	
  um	
  motor,	
  pode-­‐	
  se	
  dizer	
  que:	
  	
  
A-­‐ 	
  quebrou	
  uma	
  canaleta	
  	
  do	
  pistão.	
  
B-­‐ 	
  a	
  junta	
  de	
  cabeçote	
  está	
  queimada.	
  	
  	
  	
  
C-­‐ 	
  a	
  válvula	
  termostática	
  está	
  quebrada.	
  
D-­‐ 	
  o	
  cilindro	
  não	
  está	
  queimado	
  direito.	
  	
  




